> CAMDEN

DOOR CONTROLS

Door Activation Devices

= ™

CM-8536 Series 1

Column™ Switch with Back Box |

INSTALLATION INSTRUCTIONS 1&

THIS PACKAGE INCLUDES: ‘

1- CM-8536 Column™ Switch 4 - Concrete Anchors
1-(M-8536 Back Box 4 -1/4"-20 Machine Screws

4-#14x1-1/2" Slot Hex Head Tapping Screws 2 - Wire Nuts C/W Spring

4 - Nylon Anchors L

.

1. GENERAL DESCRIPTION 3. DIMENSIONS

Camden CM-8536 Series Column™ Switches are ADA compliant "[1153(;/;:m]“

wide base switches that activate from any angle, have a Back Box for

easy mounting, and molded impact and flame-resistant End Caps. 60

It utilizes two fully redundant switches, which can be hard-wired or

fitted with Kinetic or Lazerpoint™ wireless transmitters.

2. SPECIFICATIONS i wderm |
' 1= o
Contact Rating 15amps @ 30VDC

2x SPDT momentary I
OIS Contact switch (Form C), UL listed
Construction Heavy duty extruded aluminum
Finish Anodized clear, dark bronze or black
. Ax#14x1-1/2" Tapping Screws with
Mounting anchor plugs or 1/4”-20 Machine Screws

Actuator Width 3" (76mm) A A
Dimensions 372" Hx5-7/8"Wx2-3/8" D
(overall) (955mm x 150mm x 6Tmm)

Code Requirements:

If installed according to these instructions the CM-8536 Column™

Switch will meet the requirements of the California Building Code

(Section 11178.6, Date: 2009), and Section 3.8.3.3.17(b) of the

Ontario Building Code.

(M-8536 complies with the National Building Code of Canada

reference to CSA Regulation 5.2.9.3 () il.

I o=
Figure 3.1 Dimensions

Page 1 of 4



CM-8536 Series Column™ Switch
INSTALLATION INSTRUCTIONS

4. INSTALLATION

Disassemble the Back Box
1. Unpack the pre-assembled CM-8536 Column™ BACKBOX WALL
Switch. The Column™ Switch is sold with its mounting % WIRING FROM
Back Box attached. Disassemble the Back Box to 14 IN-WALL THROUGH
mount on the wall or frame. | N K BOXHOLE
2. Unscrew the six 4-40 x 3/16” Phillips Screw along the
sides of the Column™ Switch to detach the Back Box. o
(Figure 4.1) L L
Determine the Wall or Frame Mounting . =
Locations: | | . COLUMN™ . A
3. Determine and mark the optimum height from the SWITCH T 1
finished floor. If using an in-wall electrical box, center < | o
the Back Box over the electrical box, while lining ANGHOR
up the top edge with the mark. The bottom of the A i PLUGS
Switch should be located between 3" to 8" (76mm to o
203mm) off the finished floor as per site conditions or h 440 x %16" P
code requirements, Sl PH SCREW
4. Use alevel to ensure the Back Box is plumb and level, — Figure 4.1 Disassembly
locate and mark the mounting and hardwire locations g X1
on the wall or frame. A TAPPING SCREWS
Drill Mounting Screw Holes on the Back Box:
5. Locate and mark the matching holes for mounting screws anywhere e
along the Guide Channels of the Back Box and align them with the
corresponding anchor locations on the wall or frame. : ,
6. Drill the mounting screw holes on the Back Box using drill bit Figure 4.3 Wall Mounting
17/64" for either #14 tapping screws or 1/4”-20 machine screws.
(Figure 4.2 and 43) GUIDE CHANNELS FOR
MOUNTING SCREWS AND
Drill the Hardwiring Hole on the Back Box: HARDWIRING CONNECTION
7. Locate and mark a through hole near the Column™ Switch wires f\
on the Back Box for the hardwiring connection from the wall to the
Column™ Switch wires. We recommend drilling a %" @ hole along -
the Guide Channels at the upper end of the Back Box between é:i\‘,% IN-WALL
8”and 12" from the top of the Column™ Switch. You may drill a HARDWIRING
different size that matches your in-wall wiring; this hole location BACK BOX —»| ,J
must align with the wires from the wall or in-wall electrical box. el
8. Drill the 3/4” @ hole on the Back Box for hardwiring connection.
(Figure 4.2 and 4.3) #14 X 1- 4" TAPPING ’.4
A. Mount the Back Box to the Wall: (Insert Hardwiring) gﬁﬁ’v CSH/:\ALI\?NNECI;_S &l
9. Mark and drill the holes in the wall using drill bit 7/32" for #14 g # B HOLE FOR
Tapping Screws or a 3/8" for wall anchors/1/2" for concrete f - Eégg%?g?mn
anchors, and insert the anchor plugs provided into the wall. f'/ BELOW TOP OF
10. Align the Back Box to the wall mounting screw holes. COLUMN™ SWITCH
11. Insert the wiring connections through the hole. & ALONG A GUIDE
12. Secure the Back Box to the wall with the #14 x 1-1/2" tapping CHANNEL

screws provided. (Figure 4.3 and 4.4)

Figure 4.2 Guide Channels

Page 2 of 4



CM-8536 Series Column™ Switch
INSTALLATION INSTRUCTIONS

or COLUMN™ SWITCH COLUMN™ SWITCH

B. Mount the Back Box to the Frame: (Insert

Hardwiring)

9. Drilland tap the screw locations in the frame. Use drill bit
13/64" or #7 for 1/4"-20 machine screw.

10. Align the Back Box to the frame mounting screw holes.

11. Insert the wiring connections through the hole.

12. Secure the Back Box to the frame with the 1/4"-20 machine
screws. (Figure 4.3 and 4.4)

Connect the Wires from the Wall: (If Hardwiring)
13. Connect the two activating wires from the wall/frame, through
the Back Box hole, to the lead wires of the Column™ Switch.
14. Use the supplied wire nuts to secure the wire connections.
Push excess wire into the Back Box and ensure cables are
not exposed to the moving parts of the switch or pinched
between the back of the Column™ Switch Base unit and the
Back Box.

Attach the Column Switch to the Back Box:

15. Mount the Column™ Switch to the Back Box.

16. Match and align the Back Box Lips to the End Cap Tabs, End
Cap Side Walls. (Figure 4.5)

17. Align the matching screw holes along both sides of the
Column™ Switch to the Back Box.

18. Secure the Column™ Switch to the Back Box with the 4-40 x
3/16” Phillips screws provided.

Wireless RF Options:

IF USING LAZERPOINT™ RF: (Figure 4.6)

1. Unscrew and remove the top End Cap to install the additional
components. The cap includes a snap-in compartment for our TX-9
transmitter.

2. Place the transmitter in the cap, with the wires hanging down and to
the front of the cap.

3. Using the supplied wire nuts, connect the two activating wires to the
Column™ Switch lead wires.

4. Slide the battery and the extra wiring into the center (rear) channel
provided. Do not slide all of the wire into the channel so that the
cap can hang off to one side while you perform the next step.
(Figure 4.6)

5. Place the Top End Cap back to the Column™ Switch and secure with
the two self-tapping phillips screw.

IF USING Kinectic by Camden™: The CM-8536K uses 2 Kinetic RF
switches which are pre-installed on the Base.

Important: When pairing this switch with a Kinetic receiver, you
must pair both the top and the bottom switches. The pairing of Camden
Kinetic transmitters is detailed in the CM-R90v2 Installation Manual.

f
il
\

NTS TO THE BACK BOX

H BACK BOX INSTALLED
NTED ON THE WALL

BACK

BOX
\
Ta

HARDWIRING
CONNECTION
‘I\
4-40 X 36!
PH SCREW
\¥=.

END CAP
SIDE WALL

Figure 4.5 End Cap Alignment

.| BATTERIES ON BASE
| INSIDE BACK BOX

Figure 4.6 Transmitter Assembly

Page 3 of 4



CM-8536 Series Column™ Switch
INSTALLATION INSTRUCTIONS

6. SYSTEM INSPECTION
After the installation and operational check of the system:

1. Place any applicable labels on the door (as per ANSI A156.10,
A156.19, or A156.38 guidelines).

2. Instruct the owner on door system operation and how to test it.

This should be checked on a daily basis.
3. Strongly recommend to the owner that the complete entry be
inspected once annually as per AAADM Guidelines.

8. PARTS INFORMATION

[tem | Parts Description aQry
T | C(M-8536 Actuator 1
2| (M-8536 Base 1
3 | (M-8536 Mounting Back Box 1
4| CM-8536 Black Nylon End Cap 2
5 | SPDT Switch 2
6 | 12" Wire Harness 1
7| 9" Wire Harness 1
8 | S/S4lbs Comp. Spring 2
9 | Nylon Screw 4
10 | Rubber Bumper 3
11 | Edging Grommet 4
12| #4x1/2" FH Phillips S/S Tapping Screw 4
13| 4-40x3/16" S/S Phillips Scew 6
14 | Nylon Washer 2
15 | Wire Nut C¢/W Spring 2
16 | #14x1-1/2" Slot Hex Head Tapping Screws 4
17 | Nylon Anchor Plugs 10 - 14 Screw x 1-9/16” 4
18 | 1/4"-20 Machine Screws 4

ORDERING INFORMATION FOR REPLACEMENT PARTS

Part
Number

Description

60-34B113

(M-8536 Mounting Back Box w/ Screws Kit

60-34B114

(M-8536 Black Nylon End Cap Pair w/ Screws Kit

60-34B115

(M-8436/853 SPDT Switch & Harness Assembly Kit

60-34B110

(M-8436/8536 Parts Kit

” CAMDEN Opening New Doors to

DOOR CONTROLS Innovation, Quality and Support!

Visit: www.camdencontrols.com

1. WARRANTY

Camden Door Controls guarantees the CM-8536 Series to be free
from manufacturing defects for 3 years from date of sale. If during
the first 3 years the Column™ Switch fails to perform correctly, it
may be returned to our factory where it will be repaired or replaced
(at our discretion) without charge. Except as stated herein, Camden
extends no warranties expressed or implied regarding function,
performance or service.

Parts Kit

(L

Figure 8.1 Exploded View

BSI File: CM-8536_Column Switch_
Call: 1.877.226.3369 / 905.366.3377 ‘6’ Certified ISO 9001: 2015 Manual_R1.indd

Rev.:June 13, 2025
Part No.: 40-82B357

Page 4 of 4



